

ARLINGTON COUNTY, VIRGINIA

AGREEMENT NO. 18-227-ITB-3 AMENDMENT NUMBER 3

,	024 by the County and amends Agreement Numberry 7, 2019 between Southern Maryland Cable, dba SM County Board of Arlington County, Virginia ("County").
The County and the Contractor agree to amend	the Main Agreement as follows:
	act Term, this Contract is hereby renewed for its final anuary 7, 2024 through January 6, 2025.
All other terms and conditions of the Main Agro	eement remain in effect.
WITNESS these signatures: THE COUNTY BOARD OF ARLINGTON COUNTY, VIRGINIA	SOUTHERN MARYLAND CABLE DBA SMC INFRASTRUCTURE SOLUTIONS
AUTHORIZED SIGNATURE: Sy Gezachew NAME:	AUTHORIZED SIGNATURE: Dennis Madden Dennis Madden
TITLE: PROCUREMENT OFFICER	TITLE: President
DATE: 1/9/2024	DATE:

Exhibit F - Contract Pricing

Southern Maryland Cable dba SMC Infrastructure Solutions is the Tertiary Contractor for Category I (Non-Emergency repair work).

18-22	7-ITB-3	PROJECT: Standard Pricing	В	IDDER:		SMC Infrastr	ucture Solutions	
		•				2023	UNIT PRICE	
CLIN	C/L/M	ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	Percent	beginning	TOTAL PRICE
						Change	1/7/2023	
1	C	AERIAL MAKE-READY RAISE OR LOWER SPAN and RELOCATE O.H. GUY	EΛ	10	\$30E 00	1 214	\$50C 07	ÅE 060 66
2	C	TRANSFER EXISTING ATTACHMENT - OLD TO NEW POLE	EA EA	50	\$385.00 \$262.00	1.314	\$506.07 \$344.39	\$5,060.66 \$17,219.39
3	C	REMOVAL OF AERIAL CABLE SPAN	EA	75	\$534.00	1.314	\$701.92	\$52,644.01
4	С	REMOVAL OF CONDUIT FROM POLE	EΑ	5	\$113.00	1.314	\$148.53	\$742.67
5	С	RELOCATION OF DOWN GUY	EA	2	\$302.00	1.314	\$396.97	\$793.93
6	С	REMOVAL OF DOWN GUY AND ANCHOR	EA	8	\$113.00	1.314	\$148.53	\$1,188.27
7 8	C	REMOVAL OF EXISTING ATTACHMENT REMOVAL OF OVERHEAD GUY	EA EA	75 2	\$113.00	1.314	\$148.53	\$11,140.02
9	С	PLACE GUY OR SIDEWALK GUY AND ANCHOR	EA	2	\$113.00 \$503.00	1.314 1.314	\$148.53 \$661.17	\$297.07 \$1,322.34
10	C	TREE TRIMMING	LF	200	\$5.75	1.314	\$7.56	\$1,511.63
11	С	REMOVAL OF CABLE FROM AERIAL STRAND	LF	250	\$2.63	1.314	\$3.46	\$864.26
12	M	SUPPLY RISER - U-GUARD, PLASTIC, 10FT, 2.0 INCH	EA	6 3	\$16.90	1.314	\$22.21	\$133.29
13	L M	PLACEMENT OF RISER - U-GUARD, PLASTIC, 20FT SUPPLY RISER - U-GUARD, STEEL, 8FT, 2.0 INCH	EA EA	6	\$155.00 \$20.70	1.314	\$203.74 \$27.21	\$611.22 \$163.26
15	L	PLACEMENT OF RISER - U-GUARD, STEEL 20FT	EA	2	\$195.00	1.314	\$256.32	\$512.64
16	М	SUPPLY RISER - 2.0" GALVANIZED RMC	EA	4	\$170.00	1.314	\$223.46	\$893.83
17	L	PLACEMENT OF RISER - 2.0" GALV. RMC	EA	4	\$315.00	1.314	\$414.05	\$1,656.22
18 19	M L	SUPPLY EHS GALV. 6M GUY / MESSENGER STRAND PLACE OVERHEAD SPAN WIRE (GUY OR MSGR) 6M	LF LF	750 750	\$0.18	1.314	\$0.24	\$177.45
20	L M	PLACE OVERHEAD SPAN WIRE (GUY OR MSGR) 6M SUPPLY EHS GALV. 10M GUY / MESSENGER STRAND	LF.	150	\$1.54 \$0.39	1.314	\$2.02 \$0.51	\$1,518.20 \$76.90
21	L	PLACE OVERHEAD SPAN WIRE (GUY OR MSGR) 10M	LF	150	\$1.54	1.314	\$2.02	\$303.64
22	M	SUPPLY EHS GALV. 14M GUY / MESSENGER STRAND	LF	150	\$0.74	1.314	\$0.97	\$145.90
23	L	PLACE OVERHEAD SPAN WIRE (GUY OR MSGR) 14M	LF	150	\$2.18	1.314	\$2.87	\$429.83
25	т.	AERIAL CABLE PLACEMENT AERIAL PLACEMENT OF 12-FIBER ADSS DROP CABLE	LF	4000	40.00		40.04	44 40
26	L L	AERIAL PLACEMENT OF 12-FIBER ADSS DROP CABLE AERIAL PLACEMENT OF 24- or 48-FIBER ADSS CABLE	LF	2000	\$3.00 \$3.25	1.314	\$3.94 \$4.27	\$15,773.49 \$8,543.97
27	L	AERIAL LASH UP OF 72-COUNT OR SMALLER FIBER	LF	500	\$3.51	1.314	\$4.61	\$2,306.87
28	L	AERIAL LASH-UP OF 144-COUNT FIBER	LF	500	\$3.51	1.314	\$4.61	\$2,306.87
29	L	AERIAL LASH-UP OF 864-COUNT FIBER	LF	500	\$4.62	1.314	\$6.07	\$3,036.40
30	С	PLACE AERIAL SLACK STORAGE SNOW SHOES	EA	6	\$368.00	1.314	\$483.72	\$2,902.32
		INSIDE PLANT (ISP)						
32	M	SUPPLY 1.25-INCH EMT CONDUIT	LF	200	\$3.15	1.314	\$4.14	\$828.11
33	L	PLACE 1.25-INCH EMT CONDUIT IN BLDG	LF	200	\$8.15	1.314	\$10.71	\$2,142.57
34	M	SUPPLY 2.0-INCH EMT CONDUIT	LF	200	\$4.53	1.314	\$5.95	\$1,190.90
35	L	PLACE 2.0-INCH EMT CONDUIT IN BLDG	LF	200	\$13.56	1.314	\$17.82	\$3,564.81
36	M	SUPPLY 4.0-INCH EMT CONDUIT	LF	300	\$11.78	1.314	\$15.48	\$4,645.29
37 38	L M	PLACE 4.0-INCH EMT CONDUIT IN BLDG SUPPLY 2.0-INCH RIGID METAL CONDUIT	LF LF	300 300	\$27.11	1.314	\$35.63	\$10,690.48
39	L	PLACE 2.0-INCH GAVL RMC IN BUILDING	LF	300	\$10.00 \$24.40	1.314	\$13.14 \$32.07	\$3,943.37 \$9,621.83
					421110	2.021	452101	45/022103
40	M	SUPPLY GALV. PULLBOX 4"x4"x36"	EA	4	\$248.00	1.314	\$325.99	\$1,303.94
41	М	SUPPLY GALV. PULLBOX 6"x6"x36"	EA	4	\$267.00	1.314	\$350.96	\$1,403.84
42	M	SUPPLY GALV. PULLBOX 8"x8"x48"	EA	4	\$324.00	1.314	\$425.88	\$1,703.54
43	M M	SUPPLY PULLBOX 8"x18"x18" SUPPLY PULLBOX 12"x24"x24"	EA EA	4	\$282.00 \$608.00	1.314	\$370.68 \$799.19	\$1,482.71 \$3,196.76
45	M	SUPPLY PULLBOX 18"x36"x36"	EA	4	\$1,209.00	1.314		\$6,356.71
46		PULLBOX PLACEMENT IS INCIDENTAL TO CONDUIT INSTA		ON	1=,200.00	2.014	1=,303.20	, , , , , , , , , , , , , , , , , , , ,
47	С	PLACE WALL RACK MOUNT - MIDDLE ATLANTIC WRS-6	EA	1	\$632.00	1.314	\$830.74	\$830.74
48	C	PLACE/ FIT 4'x8'x3/4" CLASS A FIRE RATED PLYWOOD	EA	1	\$262.00	1.314	\$344.39	\$344.39
		CDITCING AND DEDMINATION					\$0.00	
50	С	SPLICING AND TERMINATION PLACEMENT OF MID-SHEATH SPLICE AND ENCLOSURE	EA	20	\$1,264.00	1.314	\$0.00 \$1,661.47	\$33,229.48
51	M	SUPPLY SPLICE ENCLOSURE - PLP RUNT	EA	10	\$210.00	1.314	\$276.04	\$33,229.46
52	М	SUPPLY SPLICE ENCLOSURE - 6.5"x22"	EA	4	\$435.00	1.314	\$571.79	\$2,287.16
53	М	SUPPLY SPLICE ENCLOSURE - TE 600D	EA	4	\$725.00	1.314	\$952.98	\$3,811.93
54	L	PLACEMENT OF SPLICE ENCLOSURE	EA	8	\$432.00	1.314	\$567.85	\$4,542.76
55 56	L M	REENTRY OF SPLICE ENCLOSURE SUPPLY WRAP AROUND CABLE MARKER	EA EA	20 40	\$432.00	1.314	\$567.85	\$11,356.91
57	C	FIBER OPTIC TESTING PER FIBER, UNI-DIR TEST	EA	288	\$5.99 \$50.00	1.314	\$7.87 \$65.72	\$314.94 \$18,928.18
58	С	FIBER OPTIC TESTING PER FIBER, ONI-DIR TEST	EA	1200	\$68.00	1.314	\$89.38	\$107,259.70
59	C	A - SINGLE FUSION SPLICE, LESS THAN 13	EA	200	\$180.00	1.314	\$236.60	\$47,320.46
59	C	B - SINGLE FUSION SPLICE, 13 TO 24.	EA	24	\$100.00	1.314	\$131.45	\$3,154.70
59		C - SINGLE FUSION SPLICE, 25 TO 72.	EA	48	\$85.00	1.314	\$111.73	\$5,362.99
59 60	C	X - SINGLE FUSION SPLICE, MORE THAN 72. A - MASS FUSN SPLC, 12F RIBBON, LESS THAN 3 RBN	EA RB	576 4	\$85.00 \$2,350.00	1.314	\$111.73 \$3,088.97	\$64,355.82 \$12,355.90
60		B - MASS FUSN SPLC, 12F RIBBON, LESS THAN 3 RBN B - MASS FUSN SPLC, 12F RIBBON, LESS THAN 7 RBN	RB	2	\$1,200.00	1.314	\$1,577.35	\$12,355.90
60		C - MASS FUSN SPLC, 12F RIBBON, LESS THAN 13 RBN	RB	2	\$1,200.00	1.314	\$1,577.35	\$3,154.70
60		X - MASS FUSN SPLC, 12F RIBBON, 13 OR MORE RBN	RB	288	\$985.00	1.314	\$1,294.74	\$372,885.20
<i>C</i> 1	1.4	FIBER PATCH PANELS	F) 7	10	6500 60	4 0	0050 05	AT 010 00
61 62	M M	SUPPLY SLIM PATCH DROP PANEL - 200FT 7" (LC-UPC) SUPPLY 12-COUNT PATCH PANEL W/ SC-APC PIGTAIL	EA EA	12 1	\$502.00 \$550.00	1.314	\$659.86 \$722.95	\$7,918.29 \$722.95
63	M	SUPPLY 12-COUNT PATCH PANEL W/ SC-APC FIGHALL SUPPLY 12-COUNT PATCH PANEL W/ LC-UPC PIGTAIL	EA	2	\$550.00	1.314	\$722.95	\$1,445.90
		PLACE 12-COUNT PATCH PANEL (INCL PLACE SPH-01P)	EA	13	\$110.00	1.314	\$144.59	\$1,879.67
64	L	TENCE IZ COUNT THICH THINDS (INCE TENCE OF OTT)						

18-22	7-ITB-3	PROJECT: Standard Pricing	В	SIDDER:		SMC Infrastr	ucture Solutions	
						2023	UNIT PRICE	
CLIN	C/L/M	ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	Percent	beginning	TOTAL PRICE
	-	DIAGRAM CONTRACTOR DIAGRAM (T.C. C)		-	****	Change	1/7/2022	****
66	L M	PLACE 24-COUNT PATCH PANEL (LC Connector) SUPPLY CORNING SPH-01U (PLACE WITH CLIN 64)	EA EA	1	\$110.00 \$58.00	1.314	\$144.59 \$76.24	\$144.59 \$76.24
68	M	SUPPLY CORNING PCH-01U (PLACE WITH CLIN 64)	EA	1	\$387.00	1.314	\$508.69	\$508.69
69	L	PLACE CORNING PCH-01U	EA	1	\$110.00	1.314	\$144.59	\$144.59
70	M	SUPPLY CORNING PCH-02U	EA	5	\$483.00	1.314	\$634.88	\$3,174.41
71	L	PLACE CORNING PCH-02U	EA	5	\$110.00	1.314	\$144.59	\$722.95
72	M L	SUPPLY CORNING PCH-04U PLACE CORNING PCH-04U	EA EA	1	\$680.00 \$150.00	1.314	\$893.83 \$197.17	\$893.83 \$197.17
74	M	SUPPLY CORNING PWH-04P	EA	1	\$354.00	1.314	\$465.32	\$465.32
75	L	PLACE CORNING PWH-04P	EA	1	\$150.00	1.314	\$197.17	\$197.17
76	M	SUPPLY CORNING PWH-02P	EA	1	\$274.00	1.314	\$360.16	\$360.16
77	L	PLACE CORNING PWH-02P	EA	1	\$110.00	1.314	\$144.59	\$144.59
		GENERAL CONDUIT						
80	С	REMOVAL OF CABLE FROM CONDUIT	LF	1000	\$3.25	1.314	\$4.27	\$4,271.99
81	M	SUPPLY PULL TAPE	LF	3000	\$0.08	1.314	\$0.11	\$315.47
82	C	PLACEMENT OF PULL TAPE IN EXISTING CONDUIT	LF	3000	\$4.00	1.314	\$5.26	\$15,773.49
83	C	ROD EXISTING CONDUIT PLACEMENT OF FIBER IN DUCT OR CONDUIT	LF LF	1500 1500	\$5.10	1.314	\$6.70	\$10,055.60
85	M	TRACER WIRE, 14 AWG, GREEN INSULATED (EX. CONDUIT)	LF	750	\$3.75 \$0.14	1.314	\$4.93 \$0.18	\$7,393.82 \$138.02
86	L	TRACER WIRE, 14 AWG, GREEN INSULATED (EX. CONDUIT)	LF	750	\$2.00	1.314	\$2.63	\$1,971.69
SUPF	PLYING	AND PLACING TRACER WIRE IN NEW CONDUIT IS INCIDE	NTAL 1	ro cond				,
87		INNERDUCT INSTALLATION OF 1.0" or 1.25" INNER DUCT						
87	L	A - AERIAL INNERDUCT (ON STRAND W/ DOUBLE LASHING)	LF	250	\$4.50	1.314	\$5.92	\$1,478.76
87	L	B - INNERDUCT IN BUILDING, NOT IN CONDUIT	LF	150	\$3.50	1.314	\$4.60	\$690.09
87	L	C - INNERDUCT, THREE IN ONE 4-INCH CONDUIT	LF	60	\$11.00	1.314	\$14.46	\$867.54
88	M	SUPPLY INNER DUCT 1-INCH DUCT (CONVENTIONAL)	LF	430	\$0.52	1.314	\$0.68	\$293.91
90	M M	SUPPLY INNER DUCT 1-INCH DUCT (PLENUM RATED) SUPPLY INNER DUCT FABRIC DUCT, 2 POCKET	LF LF	75 100	\$2.10	1.314	\$2.76	\$207.03
90	IVI	SUPPLY INNER DUCT FABRIC DUCT, 2 POCKET	LF	100	\$3.60	1.314	\$4.73	\$473.20
		PERMITS						
99	L	PERMIT, ELECTRICAL, (PLUS PERMIT FEE)	LS	2	\$250.00	1.314	\$328.61	\$657.23
100	-	EXCAVATION WORK - EXCLUDING J-BOX		400	****		****	
101	C	OPEN CUT PAVEMENT FOUR (4) 2-INCH CONDUIT add TRENCHING OPEN CUT PAVEMENT ONE (1) 2-INCH CONDUIT add TRENCHING	LF LF	400 150	\$144.00 \$130.00	1.314	\$189.28 \$170.88	\$75,712.73
103	C	TRENCHING FOR ONE (1) 2-INCH CONDUIT	LF	150	\$130.00	1.314	\$24.97	\$25,631.91 \$3,746.20
104	С	TRENCHING FOR FOUR (4) 2-INCH CONDUIT	LF	400	\$23.00	1.314	\$30.23	\$12,093.01
105	С	TRENCHING FOR ONE (1) 4-INCH CONDUIT	LF	250	\$23.00	1.314	\$30.23	\$7,558.13
106	С	TRENCHING FOR TWO (2) 4-INCH CONDUIT	LF	250	\$29.00	1.314	\$38.12	\$9,529.81
107	С	HAND TRENCH ONE (1) 2-INCH OR (1) 4-INCH CONDUIT	LF	400	\$43.00	1.314	\$56.52	\$22,608.66
108	C	HAND TRENCH FOUR (4) 2-INCH CONDUIT	LF	400	\$46.00	1.314	\$60.47	\$24,186.01
109	С	HAND TRENCH TWO (2) 4-INCH CONDUIT	LF	400	\$50.00	1.314	\$65.72	\$26,289.14
110	С	PLACE ADD'L 2-INCH CONDUIT IN TRENCH	LF	400	\$3.00	1.314	\$3.94	\$1,577.35
111	С	DIRECTIONAL BORE ONE (1) 2-INCH CONDUIT	LF	4000	605.00	1 214	\$32.86	6101 445 71
112	C	DIRECTIONAL BORE TWO (2) 2-INCH CONDUIT	LF	9000	\$25.00 \$35.00	1.314 1.314	\$46.01	\$131,445.71 \$414,054.00
113	C	DIRECTIONAL BORE ONE (1) 4-INCH CONDUIT	LF	250	\$32.00	1.314	\$42.06	\$10,515.66
114	С	DIRECTIONAL BORE FOUR (4) 2-INCH CONDUIT	LF	1500	\$50.00	1.314	\$65.72	\$98,584.29
-		MADELING INDEDCROTTE						
115	М	MARKING - UNDERGROUND SUPPLY DOME MARKER	EA	5	\$23.00	1.314	\$30.23	\$151.16
116	L	PLACE DOME MARKER	EA	5	\$23.00	1.314	\$60.47	\$302.33
117	М	SUPPLY SOIL DISK MARKER	EA	5	\$14.60	1.314	\$19.19	\$95.96
118	L	PLACE SOIL DISK MARKER	EA	5	\$30.00	1.314	\$39.43	\$197.17
		GENERAL LABOR						
119	L	SUPPLY LABORER	HR	200	\$70.00	1.314	\$92.01	\$18,402.40
120	L	SUPPLY FOREMAN	HR	200	\$120.00	1.314	\$157.73	\$31,546.97
121	L	SUPPLY ASSISTANT	HR	200	\$55.00	1.314	\$72.30	\$14,459.03
122	L	SUPPLY FIBER OPTIC TECH - T-SHOOT/SPLICE/TEST	HR	400	\$150.00	1.314	\$197.17	\$78,867.43
123	L	SUPPLY TECHNICIAN - OTHER	HR	200	\$90.00	1.314	\$118.30	\$23,660.23
-		MATERIALS ONLY						
124	М	SUPPLY 12-COUNT FIBER, ADSS	LF	2000	\$0.54	1.314	\$0.71	\$1,419.61
125	М	SUPPLY 24-COUNT FIBER, ADSS	LF	1000	\$0.84	1.314	\$1.10	\$1,104.14
126	М	SUPPLY 48-COUNT FIBER, AD	LF	1000	\$0.42	1.314	\$0.55	\$552.07
127	M M	SUPPLY 72-COUNT FIBER, AD	LF	2000	\$0.57	1.314	\$0.75	\$1,498.48
128	īvī	SUPPLY 144-COUNT FIBER, AD	LF	2000	\$1.14	1.314	\$1.50	\$2,996.96
129	М	SUPPLY ONE (1) J-HOOK & CLAMP FOR 12-CT DROP CAB	EA	25	\$4.10	1.314	\$5.39	\$134.73
130	М	SUPPLY 24-COUNT ADSS FIBER MOUNTS	EA	15	\$33.90	1.314	\$44.56	\$668.40
131	М	SUPPLY 48-COUNT ADSS FIBER MOUNTS	EA	15	\$48.00	1.314	\$63.09	\$946.41
132	М	SUPPLY 72-COUNT ADSS FIBER MOUNTS	EA	15	\$48.00	1.314	\$63.09	\$946.41
133	M	SUPPLY 2-INCH CONDUIT, HDPE	LF	1000	61 20	1 214	61 74	61 700 70
133	M	DOLIDI Z-INCU CONDUII' UDLE	Ъľ	1000	\$1.30	1.314	\$1.71	\$1,708.79

18-22	7-ITB-3	PROJECT: Standard Pricing	В	IDDER:		SMC Infrastri	ucture Solutions	
	11120	TROUBET. Beandard Tricing	1	IDDLIN.		2023	UNIT PRICE	
CLIN	C/L/M	ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	Percent	beginning	TOTAL PRICE
				_		Change	1/7/2022	
134	М	SUPPLY 4-INCH CONDUIT, HDPE	LF	1000	\$4.04	1.314	\$5.31	\$5,310.41
							\$0.00	\$0.00
135	С	SUPPLY ADD'L 2-INCH CONDUIT - DIRECTIONAL BORING	LF	1000	\$12.00	1.314	\$15.77	\$15,773.49
		EQUIPMENT						
136	M	SUPPLY AIR COMPRESSOR	DAY	1	\$217.00	1.314	\$285.24	\$285.24
137	М	SUPPLY GENERATOR	DAY	1	\$130.00	1.314	\$170.88	\$170.88
138	М	SUPPLY BUCKET TRUCK, AND CREW	HR	16	\$200.00	1.314	\$262.89	\$4,206.26
139	М	SUPPLY AIR EXCAVATION TRUCK, AND CREW	HR	80	\$385.00	1.314	\$506.07	\$40,485.28
140	M	SUPPLY BACKHOE - SKID LOADER AND OPERATOR	HR	8	\$150.00	1.314	\$197.17	\$1,577.35
141	M M	SUPPLY MINI-EXCAVATOR AND OPERATOR SHORING BOX AND DELIVERY	HR DAY	24	\$150.00 PROVIDE	1.314 PROVIDE	\$197.17 PROVIDE	\$4,732.05 PROVIDE
143	M	SPEED SHORING - TWO SHEETS & JACKS	DAY		PROVIDE	PROVIDE	PROVIDE	PROVIDE
						-	-	
144		LABOR AND MATERIALS						
145	С	CONSTRUCTION TRAFFIC CONTROL	HR	40	\$250.00	1.314	\$328.61	\$13,144.57
146	С	TRUCK MOUNTED CRASH ATTENUATOR	HR	16	\$150.00	1.314	\$197.17	\$3,154.70
147	-	ANNUAL MAINTENANCE RETAINER	YR	3	no bid			
150		JUNCTION BOX / HANDHOLE						
151	М	SUPPLY GROUND ROD AND BRONZE NUT	EA	72	\$14.10	1.314	\$18.53	\$1,334.44
152	L	PLACEMENT OF GROUND ROD AND BRONZE NUT	EA	72	\$153.00	1.314	\$201.11	\$14,480.06
153	С	RELOCATION OF VAULT (Reuse Existing Vault)	EA	4	\$3,620.00	1.314	\$4,758.33	\$19,033.34
154	С	SUPPLY/ INSTALL TYPE 2R VAULT (ROAD-RATED)	EA	2	\$6,250.00	1.314	\$8,215.36	\$16,430.71
155	C	SUPPLY MADE 1 1911-2011-2011 MIED 15	EA	2	\$6,825.00	1.314	\$8,971.17	\$17,942.34
156 157	M L	SUPPLY TYPE 1, 18"x30"x30", TIER 15 A - NEW PLACEMENT OF TYPE 1 VAULT TIER 15	EA EA	1	\$315.00 \$3,115.00	1.314 1.314	\$414.05 \$4,094.53	\$828.11 \$4,094.53
157	L	B - NEW PLACEMENT OF TYPE 1 VAULT TIER 15	EA	1	\$3,115.00	1.314	\$4,094.53	\$4,094.53
157	L	C - NEW PLACEMENT OF TYPE 1 VAULT TIER 15	EA	1	\$4,480.00	1.314	\$5,888.77	\$5,888.77
157	L	D - NEW PLACEMENT OF TYPE 1 VAULT TIER 15	EA	1	\$3,765.00	1.314	\$4,948.93	\$4,948.93
158	М	SUPPLY TYPE 3, 24"x36"x36", TIER 15	EA	20	\$645.00	1.314	\$847.82	\$16,956.50
159	L	A - NEW PLACEMENT OF TYPE 3 VAULT TIER 15	EA	1	\$3,425.00	1.314	\$4,502.02	\$4,502.02
159	L	B - NEW PLACEMENT OF TYPE 3 VAULT TIER 15	EA	2	\$4,290.00	1.314	\$5,639.02	\$11,278.04
159 159	L L	C - NEW PLACEMENT OF TYPE 3 VAULT TIER 15 D - NEW PLACEMENT OF TYPE 3 VAULT TIER 15	EA EA	12 5	\$4,930.00	1.314	\$6,480.27	\$77,763.28
160	М	SUPPLY TYPE 4, 30"x48"x36", TIER 15	EA	20	\$4,140.00 \$975.00	1.314 1.314	\$5,441.85 \$1,281.60	\$27,209.26 \$25,631.91
161	L	A - NEW PLACEMENT OF TYPE 4 VAULT TIER 15	EA	1	\$3,770.00	1.314	\$4,955.50	\$4,955.50
161	L	B - NEW PLACEMENT OF TYPE 4 VAULT TIER 15	EA	2	\$4,720.00	1.314	\$6,204.24	\$12,408.48
161	L	C - NEW PLACEMENT OF TYPE 4 VAULT TIER 15	EA	14	\$5,425.00	1.314	\$7,130.93	\$99,833.02
161	L	D - NEW PLACEMENT OF TYPE 4 VAULT TIER 15	EA	3	\$4,555.00	1.314	\$5,987.35	\$17,962.06
162	M	SUPPLY TYPE 5, 36"x60"x36", TIER 15	EA	6	\$1,355.00	1.314	\$1,781.09	\$10,686.54
163	L L	A - NEW PLACEMENT OF TYPE 5 VAULT TIER 15 B - NEW PLACEMENT OF TYPE 5 VAULT TIER 15	EA EA	2	\$4,150.00 \$5,190.00	1.314 1.314	\$5,455.00 \$6,822.03	\$5,455.00
163	L	C - NEW PLACEMENT OF TYPE 5 VAULT TIER 15	EA	2	\$5,190.00	1.314	\$7,847.31	\$13,644.07 \$15,694.62
163	L	D - NEW PLACEMENT OF TYPE 5 VAULT TIER 15	EA	1	\$5,010.00	1.314	\$6,585.43	\$6,585.43
					, , , , , , , , , , , ,		, , , , , , , , ,	, , , , , , , , ,
		Continued on Next Page						
164	M	SUPPLY TYPE 1, 18"x30"x30", TIER 22	EA	2	\$375.00	1.314	\$492.92	\$985.84
165 165	L L	A - NEW PLACEMENT OF TYPE 1 VAULT TIER 22 B - NEW PLACEMENT OF TYPE 1 VAULT TIER 22	EA EA	1	\$3,115.00 \$3,900.00	1.314 1.314	\$4,094.53 \$5,126.38	\$4,094.53 \$5,126.38
165		C - NEW PLACEMENT OF TYPE 1 VAULT TIER 22	EA	1	\$4,480.00	1.314	\$5,126.38	\$5,126.38
165	L	D - NEW PLACEMENT OF TYPE 1 VAULT TIER 22	EA	1	\$3,765.00	1.314	\$4,948.93	\$4,948.93
166	М	SUPPLY TYPE 3, 24"x36"x36", TIER 22	EA	20	\$710.00	1.314	\$933.26	\$18,665.29
167	L	A - NEW PLACEMENT OF TYPE 3 VAULT TIER 22	EA	1	\$3,425.00	1.314	\$4,502.02	\$4,502.02
167	L	B - NEW PLACEMENT OF TYPE 3 VAULT TIER 22	EA	2	\$4,290.00	1.314	\$5,639.02	\$11,278.04
167	L	C - NEW PLACEMENT OF TYPE 3 VAULT TIER 22 D - NEW PLACEMENT OF TYPE 3 VAULT TIER 22	EΑ	12	\$4,930.00	1.314	\$6,480.27	\$77,763.28
167 168	L M	SUPPLY TYPE 4, 30"x48"x36", TIER 22	EA EA	5 20	\$4,140.00 \$1,115.00	1.314 1.314	\$5,441.85 \$1,465.62	\$27,209.26 \$29,312.39
169		A - NEW PLACEMENT OF TYPE 4 VAULT TIER 22	EA	1	\$1,115.00	1.314	\$1,465.62	\$29,312.39
169		B - NEW PLACEMENT OF TYPE 4 VAULT TIER 22	EA	2	\$4,720.00	1.314	\$6,204.24	\$12,408.48
169		C - NEW PLACEMENT OF TYPE 4 VAULT TIER 22	EA	14	\$5,425.00	1.314	\$7,130.93	\$99,833.02
169		D - NEW PLACEMENT OF TYPE 4 VAULT TIER 22	EA	3	\$4,555.00	1.314	\$5,987.35	\$17,962.06
170	M	SUPPLY TYPE 5, 36"x60"x36", TIER 22	EA	6	\$1,560.00	1.314	\$2,050.55	\$12,303.32
171		A - NEW PLACEMENT OF TYPE 5 VAULT TIER 22	EA	1	\$4,150.00	1.314	\$5,455.00	\$5,455.00
171 171	L L	B - NEW PLACEMENT OF TYPE 5 VAULT TIER 22 C - NEW PLACEMENT OF TYPE 5 VAULT TIER 22	EA EA	2	\$5,190.00 \$5,970.00	1.314 1.314	\$6,822.03 \$7,847.31	\$13,644.07 \$15,694.62
171		D - NEW PLACEMENT OF TYPE 5 VAULT TIER 22	EA	1	\$5,970.00	1.314	\$6,585.43	\$6,585.43
					. 2, 2=0.00		,	7-,500.40
172		REMOVE EX. JBOX AND REPLACE WITH TYPE 1						
172		A - R/R JB w/ 18"x30"x30" TYPE 1 JBOX (Ashpault)	EA	1	\$3,636.00	1.314	\$4,779.37	\$4,779.37
172	L L	B - R/R JB w/ 18"x30"x30" TYPE 1 JBOX (Pavers) C - R/R JB w/ 18"x30"x30" TYPE 1 JBOX (Cement)	EA EA	1	\$4,420.00	1.314	\$5,809.90	\$5,809.90
172 172	L	D - R/R JB w/ 18"x30"x30" TYPE 1 JBOX (Cement)	EA	1	\$5,000.00 \$4,285.00	1.314 1.314	\$6,572.29 \$5,632.45	\$6,572.29 \$5,632.45
173	-	REMOVE EX. JBOX AND REPLACE WITH TYPE 3	77.7	-	Ç-1,203.00	1.314	73,032.43	ΨJ, 032.43
173	L	A - R/R JB w/ 24"x36"x36" TYPE 3 JBOX (Ashpault)	EA	1	\$4,555.00	1.314	\$5,987.35	\$5,987.35
173	L	B - R/R JB w/ 24"x36"x36" TYPE 3 JBOX (Pavers)	EA	1	\$4,810.00	1.314	\$6,322.54	\$6,322.54
173	L	C - R/R JB w/ 24"x36"x36" TYPE 3 JBOX (Cement)	EA	1	\$5,450.00	1.314	\$7,163.79	\$7,163.79

18-22	7-ITB-3	PROJECT: Standard Pricing	В	IDDER:	SMC Infrastructure Solutions			
CLIN	C/L/M :	ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	2023 Percent	UNIT PRICE	TOTAL PRICE
				~		Change	1/7/2022	
173	L	D - R/R JB w/ 24"x36"x36" TYPE 3 JBOX (Dirt)	EA	1	\$4,660.00	1.314	\$6,125.37	\$6,125.37
173	L	E - Place Add'l 24"x36"x36" DBL Stack Jbox	EA	1	\$2,435.00	1.314	\$3,200.70	\$3,200.70
174		REMOVE EX. JBOX AND REPLACE WITH TYPE 4						
174	L	A - R/R JB w/ 30"x48"x36" TYPE 4 JBOX (Ashpault)	EA	4	\$4,900.00	1.314	\$6,440.84	\$25,763.36
174	L	B - R/R JB w/ 30"x48"x36" TYPE 4 JBOX (Pavers)	EA	20	\$4,670.00	1.314	\$6,138.51	\$122,770.30
174	L	C - R/R JB w/ 30"x48"x36" TYPE 4 JBOX (Cement)	EA	40	\$5,620.00	1.314	\$7,387.25	\$295,489.97
174	L	D - R/R JB w/ 30"x48"x36" TYPE 4 JBOX (Dirt)	EA	20	\$5,455.00	1.314	\$7,170.36	\$143,407.27
174	L	E - Place Add'l 30"x48"x36" DBL Stack Jbox	EA	2	\$2,580.00	1.314	\$3,391.30	\$6,782.60
175		REMOVE EX. JBOX AND REPLACE WITH TYPE 5						
175	L	A - R/R JB w/ 36"x60"x36" TYPE 5 JBOX (Ashpault)	EA	1	\$5,280.00	1.314	\$6,940.33	\$6,940.33
175	L	B - R/R JB w/ 36"x60"x36" TYPE 5 JBOX (Pavers)	EA	2	\$6,090.00	1.314	\$8,005.04	\$16,010.09
175	L	C - R/R JB w/ 36"x60"x36" TYPE 5 JBOX (Cement)	EA	4	\$6,870.00	1.314	\$9,030.32	\$36,121.28
175	L	D - R/R JB w/ 36"x60"x36" TYPE 5 JBOX (Dirt)	EA	2	\$5,910.00	1.314	\$7,768.44	\$15,536.88
	C/L/M =	= (C = Combined / L = Labor / M = MaterialS)					Category I Total	\$ 3,620,529.58